T o e

1078 +7 =
3532=__ +500+30+2

Round 1543 to the nearest
thousand =

1432 x 8 =
CX+LV-=

%of84=
1.5x4 =

_ =773-125
3588 + 23 =

4+ 7.72 =

1323 +7 =
6543 = + +40+ 3

Round 54633 to the nearest
thousand =

2754 x 8 =
CCL + XCVI =

% of 84 =

3.45x4 =

_ =1643-753
5124 = 28 =
13.75 +8.35 =

1498 + 7 =
7635=6000+__ +30+__

Round 753974 to the nearest
thousand =

3543 x 8 =
DCCXLII + CCCLV =

2 of 84 =
6

7.47 x4 =
_=3755-1264
5983 +31 =

34.37 + 53.903 =



1078 +7 =154
3532 =3000 + 500 + 30 + 2

Round 1543 to the nearest
thousand = 2000

1432 x 8 = 11456
CX+ LV =165

%of84=14

1.5x4=06

648 =773 -125
3588 +23 =156
4+7.72=11.72

1323 =7 =189
6543 =6000+500+40+ 3

Round 54633 to the nearest
thousand = 55000

2754 x 8 = 22032
CCL + XCVI = 346

%of84=28

3.45x4=13.8

890 =1643 —-753
5124 +28 =183
13.75+8.35=22.1

1498 +7 =214
7635 =6000+1600+30+5

Round 753974 to the nearest
thousand = 754000

3543 x 8 = 28344
DCCXLIl + CCCLV = 1097

gof84=70

7.47 x4 =29.88

2491 =3755-1264
5983 +31=193

34.37 +53.903 = 88.273



